VENTILATED
FACADE SYSTEMS
FOR MOUNTING
STONES




FORTE

detail 1- stone

o a g
| 4 ” )
| ’ o
<
7
‘AA N <7
4 4
‘ < Aqd 4
al 7
g
| ’ :
a 2 .
< 4 2
‘4 < v
pal
<
a Aq
4 4 pa)
‘ 7 5 4 LA
<
‘Ad 4 < <
AA
N < 44 4 P
<
| s
7
e s ) ’
4 a
< 4 A
| ’
< pal
<
| . a v
a 2 4
‘ 7 5 4
<
<
I :
g a4 4 a 4
< 4
<
L ?
<

i

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

03/2010

1. stone

2. stainless
steel pin

3. main
T profile

4. horizontal
L profile

5. fixing bracket -
75mm

6. thermo-
insulation pad

7. anchor

8. rivet - 5x12
9. bolt Mbx30
10. nut M6

11. washer @6

12. spring
washer @6

13. thermal
insulation

& ETEM

~ Ventilated Systems

1. stone

2. stainless
steel pin

3. main
T profile

4. horizontal
L profile

5. fixing bracket -
75x80mm

6. fixing bracket -
75x160mm

7. thermo-
insulation pad

8. anchor/plug
9. rivet - @#5x12
10. bolt M6x30
11. nut M6

12. washer 26

13. spring
washer @6

14. thermal
insulation

& ETEM

~ Ventilated Systems

i -

1 |62
e
—

1/

12

7

1LY

N4IEN
7

03/2010

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

detail 2 - stone

FORTE




FORTE

detail 2.1 - stone

NN SN NN NN N NANN AN NN INAN N AN NN N
[N

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

03/2010

1. stone

2. stainless
steel pin

3. main
T profile

4. horizontal
L profile

5. fixing bracket -
75x160mm

6. thermo-
insulation pad

7. anchor/plug

8. joint profile

9. rivet - @5x12
10. bolt M6x30
1. nut M6

12. washer @6

13. spring
washer @6

14. thermal
insulation

& ETEM

~ Ventilated Systems

1. stone
2. etalbond®

3. stainless
steel pin

4. main
T profile

5. horizontal
L profile

6. fixing bracket -
75x80 mm

7. fixing bracket -
40 mm

8. thermo-
insulation pad

9. anchor/plug
10. rivet - @5x12
11. bolt M6x30
12. nut M6

13. washer @6

14. spring
washer 06

15. F profile

16. aluminum
sheet 3mm

17. thermal
insulation

18. waterproofing

19. steam
proofing
membrane

20. plasterboard

21. decorative
PVC profile

& ETEM

~ Ventilated Systems

03/2010

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

detail 3 - stone

S
b
S
sa
S

20

=

21

45301

45251

w
S |o
NRAN
:i \“SA
|
=N Nl
iN
—
@
AN

FORTE




FORTE

detail 4 - stone

—_ e —

4 L . .
B 4 P 4 Y
< 4 N ‘
‘ N 4 Z7 < 4 <
a ‘ < : 4 s ”
8A vd Aq ’
4 a a a < <
Ol 10 ‘ T 9 e
@/ a4 a7 ) A N
4 4 a S N
_ h 4 - 2 4 4
r — = 3
@ e LT “ o a
g EL
< 4 v
6 S 3 ST, B ;
@) < f a4 4 4
“a 7 s L B
13| 5 T S . .
a1 — ——< 5 4 :
| 12 11 — 4 a s 5 ° 4 . 4
1/ il | 4= N v ¢ o “
27 [—< . 416 4 19 20
14 - z < Y4 .
v ‘a
7 [ —<e v
© €
|3 b
U
‘\“ 13
) 7
00
h
21
17
=
- : j
45251 \ ()

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

03/2010

1. stone

2. etalbond®

3. stainless steel pin
4. main T profile

5. horizontal L profile

6. fixing bracket -
75x80 mm

7. fixing bracket -
40 mm

8. thermo-
insulation pad

9. anchor/plug
10. rivet - @5x12
1. bolt M6x30
12. nut M6

13. washer @6

14. spring
washer 06

15. F profile

16. aluminum
sheet 3mm

17. perforated
metal sheet

18. thermal
insulation

19. waterproofing

20. steam proofing
membrane

21. plasterboard

22. decorative
PVC profile

& ETEM

~ Ventilated Systems

1. stone
2. etalbond®

3. stainless
steel pin

4. main
T profile

5. horizontal
L profile

6. fixing bracket -
75x160 mm

7. thermo-
insulation pad

8. anchor/plug
9. rivet - @5x12

10. self drilling
screw M4.2x26

11. bolt M6x30
12. nut M6
13. washer @6

14. spring
washer @6

15. perforated
metal sheet

16. thermal
insulation

17. waterproofing

18. steam
proofing
membrane

19. drip sill

20. decorative
PVC profile

& ETEM

~ Ventilated Systems

detail 5 - stone

03/2010

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

FORTE




FORTE

detail 6 - stone

A <
4 a AA < <
< < 4a Aq a
A a
a N < <
a
P 4 4
éx 4 < a <
< pal 9
é a . P
< a 4
< &
<
O 8 y N <
/ 4 a
< 4 q74 M 5 .
[e) < < 9
Il =4 w0 N !
nnnannnfnannnna=
11— el b
@ g MSU'U'U'U’U’UUUUUUUD@ A
2 74 S
° s 4 A , A
< q a 4
5 < 9
a A <
4 @) K s sa .
J : A
1 < 4
g 10 o9 4 a ) N
A
L < 4 < a a
A <
|| <4
Zﬁ ) " a v
< 4 a4 2 4
1 14 v <4
12 <
4 <
v G 4 s
< P 4 2
A < a
7 N < B 4
A 4 <
{::3 3 < nh 0 = A
jL 2 | L SRR ] el
2 s
a N 4 < <
a 4 4
< < 4 a <
< a
13 v <
qq 44 4 :
< AA < 4 4
4
< B .
a 4 ”
< a a
a < '
< 4
a ’ 4 <
A P
< “ < 4 a
< 4
<
<
<
‘ AAG 44 a
< 4 A
A <7 a
- - — < 9 pa)
<

RRERRRRL LR,

03/2010

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

1. stone

2. stainless
steel pin

3. main
T profile

4. horizontal
L profile

5. fixing bracket -
75x80 mm

6. thermo-
insulation pad

7. anchor/plug
8. rivet - @5x12
9. bolt M6x30

10. nut M6

11. washer @6

12. spring
washer @6

13. perforated
metal sheet

14. L profile

& ETEM

~ Ventilated Systems

1. stone
3. etalbond®

4. stainless
steel pin

5. main
T profile

6. horizontal
L profile

7. fixing bracket -
75x160 mm

8. thermo-
insulation pad

S. anchor/plug

10

. rivet - @5x12

11. bolt M6x30
12. nut M6

13. spring
washer @6

14. washer @6

15. perforated
metal sheet

16. aluminum
metal sheet

17. thermal
insulation

18. waterproofing

19. plywood

& ETEM

~ Ventilated Systems

detail 7 - stone

4

11 10

15
N
e

=Y

03/2010

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

FORTE




FORTE

detail 8 - stone

—_—— — = — — —a—
4 < <
4
o a <« 4 <
< a a 4
< < 4 a
<
<
a
4 AA"‘ <
a
< < 4 a
a7
<
4 4 Av <
4 a
< < a
4 <
< 4
a a "A 4
a 4
< < 4 A
<
44 a < <
4 4 a a <
< 4 4
a
< 449
a < 4

a4

n

a
LN
B 4
4 IS
ba
[N
AB I
IS
4
IS 4
4 IS
LIPS
NS
4
4
ﬂﬂHHHHﬁ g BN
-V
4
b\j\‘ ~
a
PN >

<

4
R
VRV Pl

ThEEIW

[
| 4 s’ a 4 4 ()
) N | < 64 # ,rz?j
| ‘ 44 A 4 EE; /_ < hd
Ir . (i 7
“
|
|
N2
3 va. ~ -
5 1
| , _\V 0 11 2
! % 7 | V.
l A} - 12 7
| %
| \
1

&

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

03/2010

1. stone

2. stainless
steel pin

3. main
T profile

4. horizontal
L profile

5. fixing
bracket - 75mm

6. thermo-
insulation pad

7. anchor

8. rivet - 5x12
9. bolt Mbx30
10. nut M6

11. washer @6

12. spring
washer @6

13. thermal
insulation

& ETEM

~ Ventilated Systems

1. stone

2. stainless
steel pin

3. main
T profile

4. horizontal
L profile

5. fixing bracket -
75mm

6. thermo-
insulation pad

7. anchor

8. rivet - 5x12
9. balt M6x30
10. nut M6
1. washer @6

12. spring
washer @6

13. thermal
insulation

& ETEM

~ Ventilated Systems

03/2010

detail 9 - stone

a
IS
a

=

IIIII%5
<

N
a

[

N
N

7]

|

l' @éﬁ

yxy

2%
T

By
IS
IS
a
a

i

|

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

FORTE




FORTE

main profile

60

60

35

03/2010

* The main supporting profiles should be painted or overlapped with a black strip.

* It is recommended to cover the thermal insulation with a black veil.

The engineering design of this product is an intellectual property of ETEM Building Systems Bulgaria.
Copying and distributing any parts of the product is a violation of the copyright law.

Profile TP 060001
Weight 1403.5 g/m
Ix=34.31cm4

Wx =6.16 cm3

ly =6.8cm4

Wy =2.27 cm3

A =519 cm?2

Profile 17160
Weight 1252.8g/m
Ix =16.31cm4

Wx =3.75cm3

ly =723 cm4

Wy = 2.41cm3
A=564cm2

Profile 4163
Weight 947g/m
Ix=12.53 cm4
Wx =2.83cm3
ly =12.53 cm4
Wy =2.83cm3
A =3.5cm2

Profile 4128
Weight 529g/m
Ix =14.28 cm4
Wx =3.52cm3
ly =519 cm4
Wy =1.7cm3

A =3.84cm?2

Profile - code 31064
Weight-392 ¢/m

- Q.
R ETEM

Ventilated Systems

'/

~ Ventilated Systems

fixing bracket

160

fixing bracket - 40x160mm fixing bracket - 75x160mm
code 07vario072 code 07vario082

fixing bracket - 40x80mm fixing bracket - 75x80mm
code 07vario07 code 07vario08
03/2010

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

FORTE




FORTE

mounting distance from
the construction base
of T profile - 17160

S i ,‘; \ B
4 b 4 ‘ ‘
R |l m@\ | £
3 |\ F
Y ) iy | % S =
» ‘ = £
“ T H}@\ \ © E
s 7 I -
4 lialle | 5
o b N g
g -
s 4 2 L min = 112
4 L max = 126
b
b
: T
sa : sk ‘ ]
N n:j@ﬂﬂ@ | £
1
. Ii ! I
s —— T::A‘ % E
a b | -
a \ \ ™~ o]
o | o c
g ol O
4p
4 ° p L min = 126
iiiiii a ] L max = 161 ]
03/2010

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

& ETEM

~ Ventilated Systems

fastening elements

Dm

chemical anchor

%

OO0 XXX XXX XXXXILIIEE
1 e RS

threaded rod plastic sieve

anchor plug

rivet self drilling screw
03/2010
3
& ETEM The engineering design of this product is an intellectual property of ETEM Building Systems.
~ Ventilated Systems Copying and distributing any parts of the product is a violation of the copyright law.

FORTE




FORTE

accessories

L profile
code 4138

stainless steel pin
code 07pin5.00

03/2010

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

A
-3

ETEM’

Ventilated Systems

A
-3

ETEM’

Ventilated Systems

190
joint profile washer
code 07shina code 07washerQ10
4
&
4
e
. . /
&
90
70 k 70
thermo-insulation pad
code 07pvcbreak00
03/2010

The engineering design of this product is an intellectual property of ETEM Building Systems.
Copying and distributing any parts of the product is a violation of the copyright law.

FORTE




